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Topic:- Child Development & Pedagogy (CDP)

1) A person’s IQ is initially represented by ratio of a person’s age divided by his/her
age. / Tt safaa &1 gfs afsy &1 3= A STt g ¥ favnfora g9 afea
P 3P AU A =TT e 21

1. Real Intentional, Stereotyping / IRdfd® 1¢, TR

2. Chronological, Neurological/ d’lﬂl'j,q?IrJ\-IOh, Afd®
3. Chronological, Mental/ WW, TR
4. Mental, Chronological/ qHR®, Ww

Correct Answer :-

» Mental, Chronological/ J-II"IR-IOI?, Oblc1l'j,9bﬁ-ld>

2) Which genetic problem is associated with heart defects? / TG4 R & Iy +19 H
SATTIRIS THT &2

1. Turner’s syndrome / TR ﬁl@ﬂ

2. Down’s syndrome / ST3 ﬁl@j’q

3. Autism / 3iT¢oH

4. ADHD/QS"Qag

Correct Answer :-

« Down’s syndrome / SI13 ﬁl@j’q

3) Which of the following age ranges is considered early childhood? / frafafaa d 9 f5a g Idtr
P URTHS SEU= AT S1aT 82



1.7t011/79 11
2. Birth to 2/ SFI 9 2
3.3t012/39 12

421 6/2 9 6

Correct Answer :-

« 21t 6/296

4) The pain of a shoe bite from a new pair of shoes currently being worn is an example of / qau= o

T8 ST ¥R ofd B U 7S SISl & S[d & Ble BT 46 BT U Iae0l &
1. Long-term memory / &Y-Td Rfd

2. Episodic memory / AT WA

3. Inmediate memory / TehTdl Wid

4. Sensory memory / deT ¥fd

Correct Answer :-

o Immediate memory/?‘l(_m'—lﬁﬂﬁf

5) Ecological System theory, originally formulated by Urie bronfenbrenner, specifies four types of

nested environmental systems that are also called ./ uiifRufae gomeht ﬁl?il_d,
ot g& ¥U A I FithaR gRT AGR {591 7471 8, IR UhR & Aes qaiarr yunferal &)
fAfée wvar @ g WY we1 SITar 81

1. Influential conceptualization/ UGS AR

2. Human development/ A4 fas®Tg
3. Human ecology/ Aa uIRfYfa®!
4. Intellectual development/ SfGP faH™

Correct Answer :-

» Human ecology/ HIHd I INEIRE|

6) Re-directing energy or aggressive goals toward new aims, often artistic, intellectual or
cultural goals is called . / 7T A&hl B 3R Sl T 3 SThTHS a8l di Y: R &, ot
TR FATHD, T T ARPIIP AT I o, Fgarargl

1. “Sublimation / RANEEU



2. Compensation / IREN|

3. Affiliation / G

4. Rationalization / g%lw

Correct Answer :-

« Sublimation / SGITHOT

7) Which of the following agencies is responsible for preparing curriculum framework for
school education in India? / fRff@a & ¥ 19 W woidl, uRa A wpelt Rien & g wreuswa TuvEr
IR T F g Iererd 32

1. NCERT
2. NEUPA
3. NCTE
4. RCI

Correct Answer :-

« NCERT

8) Law of Readiness highlights the need of before learning. / AT BT

from, afrmAqd | F ravued R U Sradr el
1. Experience / 3{JHd

2. Reinforcement / Q:ITST?F[

3. Practice / {WIH
4. Maturation / IRCE]

Correct Answer :-

« Maturation / IRCE]

9) What is the ‘magic number’ according to Miller’s theory on chunking? / T IR fireR & Rrgia &
TR AP Fav |82

1.2 (+/-3)

2.9 (+/-1)



3.5 (+-2)
4.7 (+/-2)
Correct Answer :-
. 7(+-2)

10) What type of Gardner’s multiple intelligences is used during a dance performance? / <] TeRH &

IR, MER F {5 YR & g FiSar &1 IuanT far orar g2
1. Naturalistic intelligence /m Ej@

2. Intrapersonal intelligence / fRTIafads® ng@

3. Linguistic intelligence / ‘H'I'W'Iﬁ@@

4. Bodily-kinesthetic intelligence / IRIR®G-TTfa=dd! CI

Correct Answer :-

« Bodily-kinesthetic intelligence / TR -TTfadac S

11) What do individuals scoring highly on neuroticism experience? / HTﬂTﬂTT (ﬂ?ﬁﬁ%ﬁl’) SqHd ﬁ,
i Pt AT T AU g1 82

1. Uncontrollable happiness/ S{f-difAd vrg=rar

2. Mixed emotions/ THf&d HIG

3. High stress and anxiety/ 3= d-I1d 3R geRTgT

4. Positivity/ YBPRIHD

Correct Answer :-

« High stress and anxiety/ 3@ T1d 3R GeRIgT

12) As a teacher, what is the best way to help students in a problematic situation? / Tch e FEY

H, T AT ¥ STl 3t dag H- BT A ST aRidT |1 82
1. By reward / 3T &R

2. By punishment /¢S SR

3. By providing solution / THTYT UG ®Rb

4. By giving similar type of problem to solve / 8@ &< & AT 34! UHR B! THT GHL

Correct Answer :-



« By giving similar type of problem to solve / 80 ®RA & AT 3T UHR P! AW TR

13) Children start experiencing peer group influence by around the age of: / g dPpta ERIRSIE I

TEH U TUE YU BT SJHT HIT I PR od &
1. Five years / U a8

2. Four years / IR 8

3. Three years / A9 a8

4. Six years / 9: G

Correct Answer :-

o Six years/ ®: G

14) Which of the following is not a characteristic of working memory? / ﬁfﬁm ﬁ' ﬁ' a'ﬁq ?ﬁ CGE)
e @fdr A o foarwar =781 82

1. Tt involves rehearsal / 9% Rgdd wfad g

2. It is permanent / H’s’@ﬂﬁ[%l

3. It is active /q_s'ﬂﬁ?q%l

4. It involves manipulation / gﬂﬁ Gﬁ%’-?ﬁ%’ NIIE %I

Correct Answer :-

« Itis permanent/ T8 QIR gl

15) Which of the following best describes ‘learning’? /Frafafaa & Q S1-91 SRR o1 999
33T qUiA BT 82

1. The process of acquiring knowledge and skills through listening to the teacher. / fRrere o1 {Flef & HIEH g
= o
I IR DI YT B Bt Ul

2. The process of gaining facts and information through rote memorization. / H& TR & AT Q ) R
SIFeRI U R 1 UichaT |

3. The process of gathering information by reading and writing. / tIE%T 3R fora & o SHaHRY EEA A
1 ufeha|

4. The process of acquiring knowledge, skills and dispositions through our thoughts, experiences, study, senses

and sharing./ 30 faaRY, 3IHa, 3reqg, 2o SR TR0 & H1eH F I, I 3R e urd
B B Ufhar

Correct Answer :-



» The process of acquiring knowledge, skills and dispositions through our thoughts, experiences, study, senses

and sharing./ 30 TaARY, sy, 3rea, Sfoal 3R ATSNHRU & ATEH I IH, HINA 3R FHuer urd
DR B Ufehar

16) Which of the following stages of psychosocial development do not occur in childhood? /uﬁ%mﬁa?

e & Fufafed avon & & #1991 o 9901 & T8 gar 82
1. Autonomy vs. shame / XTIl 9 <

2. Trust vs. mistrust / [GY S iy

3. Intimacy vs. isolation / 3fdITdT §-TH TR

4. Initiative vs. guilt / U8d SH SORTY Y

Correct Answer :-
« Intimacy vs. isolation / 3{GRITAT §9TH 37eTd

17) Which of the following embodies the idea that individuals learn through experience? / Frafafea o

| P T faR Yol U A1 8 99 U F WTeAH | SAfed Haar 82
1. Universality / §deaTqdhdl

2. Nature / Udpidl

3. Nurture / GTS0T

4. Determinism / HAfddTg

Correct Answer :-

« Nurture / GTSOT

18) Language of word is not necessary for: / TG} T HTHT '&"H% ﬁl’E ICRUE qﬁ%
1. Conceptual thinking / CEIIRCAERES

2. Perceptual thinking / 3{d YRUMAD Fid

3. Imaginative thinking | HegRId fefde

4. Associative thinking /Wﬂﬁfﬁ?ﬂ

Correct Answer :-

» Imaginative thinking | SN ffa



19) While Piaget gave importance to biological factors governing development, Vygotsky ascribed

importanceto_./mﬁﬁmﬁﬁﬁaﬁmmaﬁﬁwaﬁmm,Wﬁ?
ISP A P A BT HRUT d4T:

1. Thinking process / feid= ufehan
2. Social interaction / ATHII® TUdH
3. Physical factors / Hifdd HR&

4. Environmental factors / QOaRUMT HR&b

Correct Answer :-

« Social interaction / JTHIIG JTh

20) Students from underprivileged background are facing learning difficulty. Most likely factor that is

affecting them is -/aﬁang{m%mﬁmﬁwmmmﬁwal LGRS
TR HRE Y I FUIAd PR IQT R A2 -

1. Individual needs/ TfGATd SMIIHATY
2. Lack of sleep/ iq &t St

3. Stress/ d-Id

4. Cognitive capabilities/ TTTH® &I

Correct Answer :-

« Individual needs/ TfGdiTd 3MaRTHAT

21) MBTI’s approach for a personality assessment is .| afedd G & ﬁlt{' m’a\’vﬂ% Cal
BiEa gl

1. Perception/ YRUIT
2. Projective/ PR
3. Structured/ TR
4. Judging/ 31ThT

Correct Answer :-

« Structured/ Tfrd

22) The theory of Constructivism was propounded by ./ Fwtorare &1 Rrgia & GRI
wfcrarfer fosam i T



1. Erikson / Qﬁﬁﬂ:{

2. Bandura / éllr_‘g'gﬂ

3. Vygotsky / ATZTIchI
4. Kohlberg / Eﬁ?ﬂﬁﬁ

Correct Answer :-

» Vygotsky / Wﬂ?\@ﬁ

23) When new ideas are incorporated into existing ideas they are known as WALCGLY ICEIRED]

el AR A e frarsmar e, @S| S UANMEISErg!
1. Accommodation / 3B

2. Replication / W faa=

3. Assimilation / THIATARU]

4. Reproduction / YT=dla

Correct Answer :-

e Assimilation / HTHITdH [

24) Using our phones while driving is an example of what kind of attention? /E{IEﬁ"T PId G TR
B $T SUAN A1 {5H UPR F HTUH $T TP 3160 52

1. Signal attention / R 3@y
2. Diffuse attention / ﬁﬁﬂ S{IYT
3. Selective attention / IIATHD HIUTT

4. Divided attention / faHad 3rgum™

Correct Answer :-

« Divided attention / faHad 3faem

25) Which of the following approaches to motivation does not rely on an intrinsic source?/

FATRT & forg FPafafaa & & o9 a1 @i te siafte dia R R T svar g
1. Cognitive / IRIHTHD

2. Humanistic /HTdaTG!

3. Behavioural / SAgRATG!



4. Socio-cultural / GHTS-Hikh ddb

Correct Answer :-

e Behavioural /Wﬁﬂ

26) CANCELLED

Students with learning disabilities have significant in a school related area
such as reading, writing, reasoning, listening or math’s. /Fﬂ@ﬁ B SA&HAT CI|
B B! TPd | Jaftd &1 o yegHT, foraHr, a& &=, g3+ a1 1o o

Hew@yqui @3l

1. Grasping / JHIA
2. Knowledge /GIHWI'\P[

3. Problems / gAY
4, Difﬁculﬁes/m

Correct Answer :-

. Difﬁculties/av—%_'-l'lé'm
27) CANCELLED

Physical development in the child slows down by the age range of: /g § IRIfve faer Ay S
Hror & ot gt SiTan &

1. 6-9 years / 6-9 CL
2.34 years/3-45|13f
3. 5-6 years / 5-6 CL

4. 4-5 years / 4-5 CL

Correct Answer :-
e 5-6 years/5-6 CL

28) CANCELLED

Which of these could be a cause for GDD?
/379 A -1 SIS & e U SR 8 JPpar 82

1. Childhood infection / ST &1 HhHUT



2. Childhood obesity / ST BT HleTdT

3. Strict parenting / % TRART
4. Excessive intake of sugar and additives/ -l 3R ufsfesy &1 Srafiies Yo

Correct Answer :-

« Childhood infection / IU- T HhHUT

29) Failure in performance is an essential part of Child learning process because: /ﬂa'sl'h s TP I,

I & SAfRTH F} ufthar &1 ve Sif~ard fgwan 3 wife:
1. it helps in developing self awareness. / dg 3T SRe&dl f[ABRId B | A Bl %I
2. it prepares children for unpleasant experiences. /W@Eﬁaﬁﬁb{ %ﬁ%%qaﬂﬂmgl

3. it helps student in re examination. / 4g Y-: 1ZRQT&IT?}[ S BI Haa ddl %I

4. it empowers children to understand that taking risks, big or small, is crucial in their learning journey. / Ug

I ) U & o Txad S11 © fob SiRaW, S1ST a1 BYet a1, 39 IfRTH & gy & Hg@yuf ]

Correct Answer :-

it empowers children to understand that taking risks, big or small, is crucial in their learning journey. / Jg

I ) U & o e S411 © fob SRaH, S1ST a1 BYet a1, 3 IfH & 9y & Ag@yuf ]

30) ‘Laura can design a spreadsheet’. This statement is an indicator of which attribute of aptitude test? /

ART, TH Wsie fE1g &% Fdt 3 1I' 98 U Afsia e i fra famivar &1 q@® 22
1. Clerical thinking/ PTIRIY (i) fRid

2. Logical thinking/ d o

3. Organisational thinking/ GG feid—

4. Numerical thinking/ 3 faq

Correct Answer :-

» Logical thinking/?ﬁ%ﬁ

Topic:- General Hindi (L1GH)

1) $IE F W FIHT F SR TH [T 7 3 Ry A1 Fza o TP 987 Ty -l 99 &= | R &t
&1 STA-_SITd SWT B | FaR S 3T Hed ST & qTH g o1d S st ik Rifsan S #) agT doT umd|
D! ST B gIF gl Bt A AIGH 1 Holl fAedr, gy iR Sadl dl i U A @RI Al F RT T Re-Re &
AT 35 | TIRTET ST g2 33 fraq 79 g1 v 31 & gl 390 foram oS gl =l & R &+ fFwaa?



T 38 A FA BT 39 Tl BT SI41d ¢ 9T BIg Aol ATI 7 3T B TR & HTH-BI 9 FAd A R T 919
it ) yeA-ferea A1 i 7= 3Tuw €1 W YaTa-oiaTd $3d A fod &t aueril & fear sd 31

ST TR B Ugh? -9 YD T U= T Ik qarsu|
T PIH Weg T 67

1. fac=h

2. dqH

3. daad

4. SRS

Correct Answer :-

2) PTG F W BT & SR T fAfear 7 oS Ry A1 F219 3R TS 381 T g1 98 e A fafear &
agwn% WA 3@ B | R G TR Herd HIT & oA ugd o iR forst 3R Rifgar S &1 agf ds1urd|
@) @A | ST gl B 7T ATy 1 aw fradr, gy iR et F i gy A eI S P Ra A Re-Re F
TaTd I5d | TRIAT BT SRI? ﬁ%ﬁ@ﬁﬁ?hﬁ%ﬁ?ﬁﬁﬁﬁ%ﬁﬁﬁ?ﬁ%ﬂﬁﬁﬁﬁ?
T 348 A HA w2 37 9161 BT 9GO S AT IS 1 ATI T 3 B <R F FTH-HI9 A Fd A R T 919,
St Bl gn-foreq |1 S a= STud §t A HaTa-oia1e See U fd i awett ¢ fear wed g

ITYe TRIR Y UgH 19 D T U= $T I« Id13¢|
U= gial e e v giar 82

1. 3T A B Tl

2. S[HaX T

3. uall &1

4. 4 p7

Correct Answer :-

. Ut @

3) HIE & W PIE & SR T fAfear A S Ry A1 P19 iR 9@ T8 Tamn A1 93 e A fafear &
BT MTA-SITd WT B | e gAY 3T AAa BT & [HA Ug 9 o1 31 Fret iR Rif$ar 1 &) agf do1 urd|
D! ST B gIF gl Bt A AIGH 1 Holl fAedr, gy iR Sadl #l W U A @RI Al F RT A Re-Re &
TaTd Iad | TRIAT BT gR1? 343 fra 98 g2 frd 31 & g1 3990 fran 3 g 7=l & W 4 Fwai
T 3 A F A2 37 14l P SIa1g 37 9161 SIS 1 ATI 7 3T I TR & HMH-F § Fod ft iR T a1g
Sit Bl ygH-fereq A1 ST = 3TUd g § Jard-oia1d ®e 3UA fd &) a9t ¢ fear #wa A1

ST TR B UGHR -9 U T U= $T I 9a13¢|
U= I & fod o o wara Soa A2

1. 3TH I P13 T



2. gaE HY 33|
3. WA HY S|
4. 313 fra 9 B

Correct Answer :-
. 3fS fhad T8 B

4) $A & W FIHE & FWR TP Rfear A 313 Ry &1 F=a iR ITS! 969 T AT 78 o= | Rifsar a1
agwn?r ST 3T B | &R g1 1@ AAd B9 P I ug = ora 3R fret i fafear 1 &) agf o1 ura |
D! ST | gIFl gl Bt A AIGH 1 Holl fAedr, gy o Jadl #l W g A @I gl F Ra d Re-Re &
TaTd 35 | TRIAT $IT g2 33 fhaa 78 812 frw 31 & g 399 fram oS gl o=l & R $d Rwpai?
T 3 A FQ R AN? 37 14l T SIa19 37 9161 SIS ) ATI 7 3T ) TR & HMH-F § Fod Jt iR T 919
St ) ygA-forq A1 1 7= 3ud €Y A YaTd-oiaTd $3% U4 fod &Y aueri S fear $a 1

ST TR $ USHR 1 I 7Y U= $T Sk a5
;e B @ P gY Teg 31 yatgarh T8 82
1. 9R

2.0g

3. &R
4. g

Correct Answer :-

5) G P W PIT F SUR TP Afear 7 o3 Ry A1 F319 oM ITS! 9671 T A 93 &= | Rifsan &
TET 3TA_SITd T B | ¥ T TR Aerd SII &b AHA UgT ST SR freT ok fRifear i) &) agi do1urd |
D! ST B gIHl gl B A ATgH 1 7ol e, gy iR Sadl dl i g AwRI i F RAI A Re-Re F
TaTd Iad | TRIAT ST gR1? 343 fra 98 g2 frd 31 & g1 399 fran 31 g o=l & W 4 Fwai
T 343 A FA AN 37 9161 BT 9G93 ITAT DIS 1 UT| 7 3T B TR P BTH-$ A BAd N R T 919
S #t ygA-foreq T1 3 9= 3Tud B § Wara-oaTe P 3 fad ) auer S fear wwd A1

ST T B UgHR A4 YD T U= BT Sk qa13¢|
WH: STgEi | oI faaeT gae 32

1. SRS

2. MG

3. STfcRgE®

4. A=

Correct Answer :-



6) PIA F W P F FUR TP fafear 7 o3 3y A1 F31a MR ITS! 951 W 1 98 &= | Rifsan &)
TET ST SWT B | FaR g1 ST HeTd ST & ATHA g o1d S st 3R Rifsan g #1 agf doT umd|
@) @A B ST g B 7T ATy a1 aw fradr, gu iR et S i gy A eI S F RAa A ReRe F
AT 35 | IS BT g2 33 frae 99 g1 fra 31 & i 390 fhae oS gl =i & R & fFwa?
T 348 A HA a2 37 I1a] BT 9GO S AT HIS Tl A1 T 3 P <R F BTH-HI9 A Fd A R T 909,
St B ggA-foreq |1 GF 9= STu € H aTa-SIa1e S U+ fed o) aued! ¢ faar avd A

ITYe TR Y UgH 19 D T U= $T I« Id13¢|
UH: ATl i fhad pead =gt 9t

1. UaId B4 9

2RI T

3. UgA-faaa ¥

4. Goll-UT8 B3 9

Correct Answer :-

. UgA-fere

7) $IE F W PIT F SWR TP e 7 o3 Ry A1 F31a ol 3T 9571 T A 93 &= | Rifsan &
TET 3TA_SITd @1 B | ¥ AT TR Aerd SI &b FHA Ugd Sira SR freT ok fRifear i) &) agi do1urd |
D! ST B gIH gl B A AT 1 7ol fAedr, gy iR Sadl dl W gu A @RI i F RAI A Re-Re &
TaTd Iad | ORI BT gR1? 343 fra 98 g2 frd 31 & gl 39 fraq 3 g o=l & W 4 Fwpai?
T 343 A FA NN 37 9161 BT 9a19 S AT BIS 1 AT 7 3T B TR P BTH-$ A PAd N R T 919
S # ygA-foreq T1 3 9= 3Tud B § WArd-oaTe P 3 fad ) auerh S fgar wwd A1

IUY T T B UgHR A4 YD T U= BT Sk qa13¢|
TR STAd {5 | 7 ¥eg 82

1. YXpd HIHT

2. 3faet Hrw

3. 3R HINT

4. SIS YT

Correct Answer :-

o SR HTNT

8) HRMA & W FIE & FHU TP Ffear 3 1S Ry &1 F=a iR ITS! 9849 M1 T 5 o= | Rifsa a1
TET MTA-TTd GWT B | TaR g1 ST A BT & A0 Ug9 S1d MR FreT iR Rifsan a1 &t agf do1 |
@) 3@ | ST gl B 7T ATy 1 Aw fyedr, gu iR et P i gy AedI s P Ra A Re-RE F
W%ﬁmﬁwwmvﬁﬁﬁ%ﬁaﬁvmm%aﬁomﬁﬁ%a@ﬁﬁwﬁ%wﬁﬁﬁﬁ



T 38 A FA BTN 39 Tl BT SITd ¢ 9T BIg Aol ATI 7 3T B TR & HTH-BI6l J FAd A R T 919
it ) yegA-foraq A1 i 7= 3Tuw €1 W YaTa-oiaTd $3d A foa &t aueril & fear Hd 31

SR T B UGH -1 IR 7Y U= BT Sk 9a13¢|
U g fHad Hard-oia1e s3d 42

1. STl
2. AU G A
3. 3T
4, Fafsar g

Correct Answer :-

. MUY EH

9) HRMA & W FIE & FHUR TP Rfear A 313 Ry &1 F=a iR ITS! 9849 T GHT 78 oH | Rifsa a1
agwn% WA 3@ B | R G 3iTR Herd HIT & oA ugd o iR forst 3R Rifgar S &1 agt ds1urd|
@) @A B ST gl B 7T ATy 1 aw fyadn, gy iR et S i gy A eI S P Ra A ReRe F
AT I5d | TRIAT BT SRI? ﬁ%ﬁ@ﬁﬁ?hﬁ%ﬁ?ﬁﬁﬁﬁ%ﬁﬁﬁ?ﬁ%ﬂﬁﬁﬁﬁ?
T 1S A HA a2 37 91a] BT 9GO S AT HIS Tl ATI T 3T I <R F BTH-HI9 A Fd A R T 909,
S Pt TeA-fore T1 3 9= 3Tud Bt § Jara-oa1e S 3 fed 1 avrewl S fgar wwd 91

ITYe TR Y UgH 19 D T U= $T I« Id13¢|
WRA: 3T B fHaw praa gt e

1. M- d B I

2. ITd HRA

3. el HA I

4, HH-4I Y

Correct Answer :-

. HH-YYY

10) $IM@ & W BT F FUR TP fafear 7 o2 Ry &1 Fz19 3R IS 984 Tamwn a1 98 @ & fafew &t
TET MTA-STd WT B | R gAY ST AAa BT & [HA Ugd o1 3R Fret 3R Rif$ar a1 & agf do1 |
D! ST B gIF gl Bt A AIGH 1 Holl fAedr, gy ok Jadl #l i g A @RI gl F RA T Re-Re &
TaTd Iad | TRIAT BT gR1? 343 fra 98 g2 frd 31 & g1 3990 fraq 3 g 7=l & W 4 Fwai
T 3 A FQ a2 37 14l P SIa19 37 9161 SIS ) ATI 7 3T I TR & HMH-F 9 Fod ft iR T 919
Sit 1 ygH-feraq A1 S = 3T g § Hard-oa1d ®eh 3UA fd &) adeet ¢ fear #wa A1

ST TRIIRT B UGHR -9 I T U= $T I 9a13¢ |
T: 313 A UgT g At sfta }2
1. ad qd



2. ®Had q3dl
3. Had rafsar
4. IWRIad g+t

Correct Answer :-

o SWRIad gt

11) $M@ & W BT F FUR TP fafear 7 o2 Ry &1 P29 3R TP 984 a1 a1 98 @ & fafea #t
TET 3TA-_SITd W B | Fa¥ ST 3R Hed ST & A= UgT oid 3R st 3R Rif$an S &) g dor urd|
D! ST | gIFl gl Bt A AIGH 1 Holl fAedr, gy o Jadl #l W g A @I gl F Ra d Re-Re &
TaTd Iod | TRTAT BT gRM? 343 fbam 98 212 frd 31 & g1 3990 fraq oi g 7=l & W 4 Fwpaie
T 3 A FQ R AN? 37 14l T SIa19 37 9161 SIS ) ATI 7 3T ) TR & HMH-F § Fod Jt iR T 919
S P vgA-fore T1 3 9= 3ud B § Wara-oaTe F 3 fad ) avrerl S fgar wwd 91

ITYe TR Y UgH 19 IR T U= $T S« Id15¢|
UY: $IE & W DI F S RAfgan 3 @ fgan

1. Mafeu |

2. fagi faw 4

3. 3ig fau A

4, UER fau 3|

Correct Answer :-

. Jsfeuy

12) $RE F W BT & SR TF RAfFar 7 oS Ry &1 F3a ok 3@t 951 @ g 98 &= S Rifsar it
TET 3TA-SITd 4T B | T AT TR Aerd SI &b FHA Ugd Sira SR freT ok fRifgar i) &) agi do1urd |
D! ST B gIHl gl B A ATgH 1 7ol e, gy iR Sadl dl i g AwRI i F RAI A Re-Re F
AT 35 | RIS BT g2 33 fraa 9 g1 v 31 F gl 390 fra™ oS gl 9=l & R &+ fFwaa?
T 343 A FA AN 37 9161 BT 9G93 ITAT DIS 1 UT| 7 3T B TR P BTH-$ A BAd N R T 919
St 1 Tgn-foreq |1 31 = Sud € A HaTa-wiaTe SYd U fad ) aweett ¢ fear #wd 2

IUE TR B USHR 19 U T U= $T @ 9a13¢|

U=: BRI BT qg1 BT 7T A1 Y12

1. 38Rl

2. M

3. UHT

4. HT

Correct Answer :-



13) HRA F W BT & SR TP FAfear 7 oS Ry &1 F3a ok 3@t 951 W@ giHl 98 &= A Rifsar wt
TET ST SJT B | FaR g1 ST HeTd ST & ATHA U o1d S st 3R Rifsan S #1 agf doT umd|
@) @A B ST g B 7T ATy a1 aw fradr, gu iR et S i gy A eI S F RAa A ReRe F
AT 35 | IS BT g2 33 frae 99 g1 fra 31 & i 390 fhae oS gl =i & R & fFwa?
T 348 A HA a2 37 I1a] BT 9GO S AT HIS Tl A1 T 3 P <R F BTH-HI9 A Fd A R T 909,
St @1 gA-foreq |1 S = STud €t A HaTa-oia1e ®ee U fd @l awett ¢ fear wed g

ITYe TR Y UgH 19 D T U= $T I« Id13¢|
W: $RIG 3N YT Ya§ I5d & Hgl ora A2

1. BT & A

2. TR A B gt

3.B3dWR
4. HAWR

Correct Answer :-

. BT & g

14) $IE F W P & SR TF RAfFr 7 oS Ry &1 F3a ok 3@t 951 T g 98 o= S Rifsar &t
TET 3MTA-SITd T B | ¥ AT TR Herd SII &b FHA Ugd ST SR freT ok fRifgar 41 &) agi do1urd |
D! ST B gIH gl B A AT 1 7ol fAedr, gy iR Sadl dl W gu A @RI i F RAI A Re-Re &
TaTd Iad | ORI BT gR1? 343 fra 98 g2 frd 31 & gl 39 fraq 3 g o=l & W 4 Fwpai?
T 343 A FA NN 37 9161 BT 9a19 S AT BIS 1 AT 7 3T B TR P BTH-$ A PAd N R T 919
S # ygA-foreq T1 3 9= 3Tud B § WArd-oaTe P 3 fad ) auerh S fgar wwd A1

IUY T T B UgHR A4 YD T U= BT Sk qa13¢|
UH: ‘HR@ fraeT yafgard g2

1. QDR BT

2. 3% Bl

3. W[ BT

4. SR BT

Correct Answer :-

15) HRA F W BT & SHW TH AfSar 7 S Ry &1 F3a ok TSt 951 W1 giHI 93 &= o RifSan ot
TET ST SJT B | FaR G AT HeTd BT & ATHA Ugd o1 SR st 3R Rifsan g +1 agf doT urd|
@) 3@ | ST gl B 7T ATy 1 Aw fyedr, gu iR et P i gy AedI s P Ra A Re-RE F
W%ﬁmﬁwwmvﬁﬁﬁ%ﬁaﬁvmm%aﬁomﬁﬁ%a@ﬁﬁwﬁ%wﬁﬁﬁﬁ



T 38 A FA BTN 39 Tl BT SITd ¢ 9T BIg Aol ATI 7 3T B TR & HTH-BI6l J FAd A R T 919
it ) yegA-foraq A1 i 7= 3Tuw €1 W YaTa-oiaTd $3d A foa &t aueril & fear Hd 31

ST TR B Ugh -9 YD T U= T Ik qarsu|
WH: “HqTd-Sara’ | S 91 G99 §2

1. 4§ 9AY

2. SIS THH

3. IeY TN

4. Sgdife Ta™

Correct Answer :-

. GG AN

16) Td 1Y 9 Y, I 1Y 9 W1 |
Ifew qafe dife), va wa srami|

Ifewe it i, fag ot e )
T T A SR, A, A, T4

ITYe UEi &1 Ugdh? ) I 9 91d U= $T Ik ga13¢|
T e 2 w1wm A 32

1. fqas w1

2. GREH BT YT BT

3. R &1

4, RRGM &1 % B AT

Correct Answer :-

. e o

17) TS 919 9 Y, T 19 99 W14
IRua qafg dife), vd wa sreami|

Tew urit e, fag oreht e =
T Y T Haw, Wi, WY, I 1

S UL $ UgHR 1 IR WH a1 U= HT I« IaTs¢|
W Hafe &1 o Fr gt @2

1. 918

2. 71



3. 918
4. A

Correct Answer :-

18) T TV 9 Y, I 1Y T W1 |
Ifewa qafe dife), va wa srami|

Ifgwe it i, fag ot e )
T T A S, A, A, T4

ITed Ui &1 Ugdh? ) I 9 91d U= o7 Ik ga13¢|
U= “Eer BT gafgart @ T8 82

1 gHT

2. {H

3. fagT

4.9

Correct Answer :-

19) TP 19 g Y, T 19 79 W14 |
IRue qafe dife), vd wa sreami|

Tew urit e, fag oreht e
T Y T Haw, Wi, WY, I 1

S UL I UgHR 1 IR WH a1 U= HT I« Ja1s¢|
W= Ul Ufekaar o 32

1. R

2. 28T

3. 9Wy

4. TS

Correct Answer :-



TS 919 99 9, 99 919 99 S|

I yafe Hifa, o wa s

fga=T it wiRed, fag ureit e )
T Y T Haw, W, WY, T4 I

ST Ui B UgHR 114 I 1A aTdt U= $T I« 9arsy |
WA TR Ufdaal fads g I 82

1. 3aT

2. W™

3. &N
4. HERG

Correct Answer :-

21) T 919 9 G, 99 919 I 94|
Iew qafe AR, oo wa s

Ifew= urt wifed, fog urit e |
T T A SHaR, AW, A, T4

ST UL $1 UgHR 19 TR 9 a1d 4R T Sk 93¢
WA U T vataardt w1 82

L. o

2.9R

3. AN

4. Il

Correct Answer :-

22) T Q1Y 99 99, Ja 19 q 94|

e yafe dife, o wa s

IRuE i R, fag o we 1)
T Y T Haw, W, WY, I i

ST YR B UgHR -4 TR 9 aTd U T Sk 913!
w1 e A @ w1 Ay &1 yataarh T8 R
1. Tgahall



2. TIRTHT

3. ol
4, Mfddd

Correct Answer :-

23) T 919 9 G, 99 919 I 94|
Iew qafe HiRe), oo wa srami |

Ifewe it i, fag it e )
T T A SHaR, AW, A, T4

ST U= $1 UgHR 19 U 9 a1d 4R HT Sk 9a13¢|
= g ot e g ufea  urei e ard @2

1. UfagT ¥

2. U G 9

3. O @ 9

4. T Y

Correct Answer :-

.yl

24) T Q1Y 99 99, Ja 19 9 94|

e yafe dife, o wa i

TRw U R, fag it e |
T Y T Ha, W, WY, T4 I

ST UL F UgHR 1 IR W a1 U= HT I« IaTs¢|
U: ‘TP 1Y 99 99, 99 18 99 G § DI A AP 72

1. YHD

2. dsplfeRd

3. UHI
4, U™

Correct Answer :-



25) T Q1Y 99 99, Ja 19 q 94|

I yafe dife, o wa s

TRw U TR, fag it e g
T Y T Haw, WA, WY, T4 I

ST U= B UgHR -1 TR 9 aTd U T Sk a1sT!
U= feuA urt AR, fag urht e o ufds A <19 1 sreeR 32
1. Y

2. YHD

3. 3IIN
4, I&T

Correct Answer :-

26) T 19 g Y, T 919 I 94|
Ifew qafe dife), va wa srami|

Ifgw= urt wifed, fog urit e |
T T A SR, A, A, T4

ITYe Ui &1 Ugdh? ) I 9 91d U= $T Ik ga13¢|
T <A Teg R A A /TR

1. foc=h

2. dGH

3. dagd

4. GRS

Correct Answer :-

27) T 19 99 Y, I Q1Y 9 94|
IRua qafg dife), vd wa sreami|

Tew urit e, fag oreht e
T Y T Haw, Wi, WY, I 1

ST U= B UgHR -1 TR 9 aTd U HT Sk 9a1st!

U ‘TP ATY 99 99, 99 919 99 S ufed o1 Hiard g2



1. YR B U 1Y HH T

2. BT Bl AT Te! dTfel|

3. U a9d 8 U& g1 S HAT dlgd |
4. ®1s W B 1 Hx1 AU

Correct Answer :-

. T% 99d H U g1 prf A1 T1feul

28) T& 1Y T Y, W WY I w4 |
Iew qafe AR, pa wa sramai |

Ifew= it wifed, fag it e )
T 7T | SHar, A, I, g1

ST Ui $ UgH T IR W aTd U= $T I« gaTse|
T=H: U 2eg B B A1 R 2

1. gfeef

2. TAIQHT

3. S0 4 IS Tal

4, YT i

Correct Answer :-

29) T AT I9 Y, 99 A1 99 A4}

I yafe difea, o wa i

fgw=T it wiRed, fag ot e )
T Y T Haw, W, Wy, T4 i

ST Ui B UgHR 114 I A aTdt U= $T I« garsy |
U I g A A I /Y

1. e

2. TAlTQHT

3. ST AP G

4. YT fofT

Correct Answer :-



30) T 19 99 99, T 1Y 99 94|
Iew qafe AR, pa wa s

Ifgw= urt wifed, fag urit e g1
T T A SHav, A, A, T4

ST U= $1 UgHR -9 TR 9 a1d R HT S 93¢
T: Ifew U e ufda & ureh a1 erf @2

1. UM R 3@

2.99 9

3. I 9

4. 499

Correct Answer :-

. IHG Y

4.
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1 a[:.‘r':'_;;i’
o2y
2.
~b
¥
3. -
i & '1-'
. U1f3/)'p

Correct Answer :-

'_? & '1-'
U1f3/)'p
17) |, . . |§i oED
LUl ol e
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2.
J;L»
3.
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2.
§ o ~
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§ o
19) N -~
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e JEURey Il
J'j:,..rf
AW
2. -
P
, v
n--é"lfj
4,



Correct Answer :-
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Topic:- Mathematics (MAT)

1) Write the cubic polynomial whose sum of zeros, sum of product of its zeros taken two at a time
and product of zeroes respectively are 4,1,and -6: /

98 U 9gUS 9aq1Y, forad ! &1 AN, IUS A B & UFGH &1 TN TH IR | & foram mar iR 3 &1
BT IUFHE HHRT: 4, 1 30X -6 3:

1.x3+='}x2+x—5
5 X% —dx?+x+
3 ¥x3I+dx24+x+6

4.x3—='}x2+x—5

Correct Answer :-

2) If a > 0 and b < 0, then the point P(a,b) lies in: /
gfda > 0Td b < 0, i f9g P(a,b) AT E:

1. 2" quadrant / fgdta aqufer

2. 4th quadrant / T’«Iﬂ?f Elﬂ?-l‘f"\’[
3. 3" quadrant / I gt
4. 15t quadrant / UYH aqufszi

Correct Answer :-

. 4th quadrant / Elﬂ?f Elﬂﬂﬁ"ﬂ

3) A figure on a graph sheet covers 10 fully filled squares, 8 half-filled squares, 3 more than half
filled squares and 6 less than half-filled squares. Find the total area. /

TS I Xfie TR TH SAidhsT 10 99 &1 Yuf =0 |, 8 11 o1 3141, 3 91 ot 31 A 1w 3R 6 T Hi
Y A $Y WRAT 8| T &ABA J1d B

152 sq units / 15 &t s@rs
1. & &



2. 21 sq units /21 aﬁmﬁ
3. 23 sq units / 23 T ZPIg
4. 17 sq units / 17 EITTWI'%

Correct Answer :-

e 17 squnits/ 173’#%@

4) If the CSA of a solid right circular cylinder of height ‘h’ and radius ‘r’ is one-third of its total
surface area, then the correct formula is: /

i v SHarE 9UT < FISaT aTel U S1 &id axjel ST b1 9 YSI e 39S Do YSIT S d BT
ue-faeTs 2, ot 59T el g &

3.2h=r

4. h=2r

Correct Answer :-

e« 2h=r

5) Four equal rectangles with length ‘a’ and breadth ‘b’ are joined to form a bigger rectangle.
Denote the area of bigger rectangle as x. /

TS "a’ 3R TISTE 'b'aTd IR FHHE 3MUd] Y Th F87 3d 911 & fore fAremar sirar 81 x & U #
T2 3Td P &7%d Bl GUY|

| X= dab

5 ab = 4x

3.x=4a+4b

4.x=4+ab

Correct Answer :-

. x = 4ab



6) What are the additive identity, additive inverse and multiplicative identity of -1? /
-1 ¥ GNP THHD, TNTAD Ufaad 3R U Toq0S 71 8?2

1.0,1,1

2.0,1,-1

3.0,-1,-1

4.0,-1, 1

Correct Answer :-

7) What is the predecessor of 218010? /
218010 Ft Ydadl "= frast 82

1. 228010

2.218011

3. 218009

4. 218000

Correct Answer :-
e 218009

8) Which property can be used to solve this problem? Find the solution. /
39 UY P 86 B3 & e 59 o1 &1 Ium fhar i gehar 32 g9 4 SR
98654.7x726+ 98654.7 %274 =?

1. Associative; 98654700 / ‘v'I'ITeEPCfﬂUT; 98654700

2. Both associative and commutative; 98654700 / ITead Td HH-faf-84 T[0T G ; 98654700

3. Distributive; 98654700 / [daR U T0T; 98654700

4. Commutative; 986547000 / sH-faf83 10T; 986547000

Correct Answer :-

« Distributive; 98654700 / fadaRUIlE® UT; 98654700

9) A triangle and a parallelogram are on the same base and between the same parallels. The ratio of
the area of triangle and parallelogram is ./



T BAYS 9y FUHiaR IgUs UM YR W aUT GHH JaHR v@rsi & a9 fRua &1 Bys aur sasia
T ATradISgUE . B

1.1:3
2.1:2
3.2:3

4.3:4

Correct Answer :-

10) Foran equilateral APQR, the vertices Q and R are (-3,0) and (3.0) respectively, then the 3rd
vertex P is: /

Ueh THGE APQR&F e, ofif Q uad R&#HT (-3.0)Td (3.0) &, ar o ofd P &

(0343)

1.

, 05)

3.(0,3)

4.(0,4)

Correct Answer :-

(03-5)

11) £ is the mean of N observations ST CX I xwthenz?:l(xl- —X)= .y
afg n YA X;,%5,%3, e X AT X B, A o, (x; —X)= |

LM

2 X

3.1

4.0



Correct Answer :-

12) The polvgon having interior angles 117° 63° 52° 128%is:/

1170 63° 52°,128°HTdeh hioTarell Tgee 2

1. Concave / 3ddd
2. Regular / 9H
3. Convex / 3dd

4. Convex and Regular / 3dd 3R Y

Correct Answer :-
e Convex /3dd

13)

In AABC, D and E are points on AB and AC respectivelv such that DE|BC, AD = x, DB=x — 2,
AF= x4+ 2,andEC=x—1,thenx=__ .\

AABC #, AB3RACT %A D3R Efdg 59 YR § & DE|BC, AD = x, DB=x — 2,

AE=x 42, dWEC=x—1%.dlx=__ |

1.1
2.3
3.0

4.4

Correct Answer :-

14)  One angle of a decagonis 90° and all the remaining nine angles are equal. Then the measure of

the other angles is: /

UF AT HT b HIoT 90°3HR AW Fafr it T e . A 39w ol fr A §

150e°
1.



2.

e
3.

115°
4.

Correct Answer :-
15090

15)  In APQR. PQ=3 cm, QR=4 cm then which of the following is not the side of a triangle  /
APQR #, PQ=3 ¥#1,QR~4 &1 8. af fowaafaif&a A & Flawl Bregar &1 e =671 &

1.7 cm /7 9l
2.3cm/3 9l
3.2cm/2 4
4.5cm /5 I

Correct Answer :-

e 7cm /7 9H

1 1
16) o st dhen thevalueof = 5 ~is:
i

Ife a+b=2ab . @l l+§$r AT &
i

(R

e | =

2.

3.2

4.4

Correct Answer :-



17)  Given AABC2ADEF and AABC2AFDE then which of the following is not true? /
AABC2ADEF 3iR AABCEAFDE fear amr 8. ar Te=faf@a & & sia-ar adr a8t 87

1. CB=EF

2. BC=FE

3. AB=DF

4. AC=FD

Correct Answer :-

« AB=DF

18)  Find who spends second least on fencing from the given table.
Name Shape of land Length of one side
Abhi Equilateral triangle 50m
Sanal square T0m
Mohan Fegular pentagon 60m
Suresh Regular hexagon 30m

& a5 aifeieT ¥ A X [ a5 oeel 9 GOl dad &
I i AT 57

o A H EHR UF ST H oEs
Ffa SEELT EEE] 50 Hrex
gad CEl} 70 Hex
Higd TH g 60 Hrex
g qH geid 30 Hiex
1. Abhi / 31
2. Suresh / G
3. Mohan/ﬁl@?
4, Sanal / 94

Correct Answer :-

« Suresh / g

19) Inatriangle PQR., #P=59", 2Q=60" and #R=61° . The largest side of the triangle is: /

ush BEe PQR A, £P=59", £Q=60" 3R LR=61°%| Teyet &l Tl T3 &1l &



ZP

2R
2.

3.PQ

4. QR

Correct Answer :-

20) Find the 3rd zero of the polynomial x*4+7x2-2x-14 | if two of its zeroes are —/2andv2 /

TgUE +7x7-2x-14 F AR Yedh AT FL ARG 5865 o Yok —V2 TdV2 Bl

1. —7

2.3
3.5

4.7

Correct Answer :-

. 7

21) 1, . ’ R,
If x= -3 ,v=1is the solution of the equation -2x+5v=k then the value of k" is:, ;
g x=-37d v;ﬂﬁw 2x+5y=k & T b, dl k& AT &

1.-7

2.-5

3.7

4,5

Correct Answer :-



Choose the digits from the options to fill the blank space of the following number so that the number
formed is not divisible by 3:

__9745/

fFrafafad T & fed ®RIMA $) WA & fore Al A A 3wl &1 999 o3 o f6 991 arelt = 3 @
Ay T 8):

__9745
1.986
2.875
3.768

4.392

Correct Answer :-

e 768

23) choose a set of like terms from 9a2b, 4ab, 4a, 5ba2, 7b2a, 9b, 3ab, 4b. /
9a2b, 4ab, 4a, 5ba2, 7b2a, 9b, 3ab, 4b & HEXI UGl & U G BT IIq Be |
1. 9a2b, 5ba?

2. 9a2b, 4ab, 5ba2, 7b2a, 3ab

3. 4ab, 4a, 4b

4, 9a2b, 5ba2, 7b2a,

Correct Answer :-

. 9a2b, 5ba?

24) ABCD is a parallelogram and E and F are the centroids of triangles ABD and BCD respectively. If
AC=12 cm, then EF=?/

%\BCDQ?F AR Ig4 & 3R E 3R F Hu=r: iy ABD 3R BCD & &= &1 afg AC = 12 &
d EF =2

1.2 cm/29Ht
2.6 cm/ 6 9H
3.4cm/4®’5ﬁ

4.8 cm/ 8 9Ht

Correct Answer :-



. 4cm/4®'ﬁn

25) Ajay has a plot in the shape of a regular hexagon. He buys a plot that shares a side with one of

the sides of the hexagon. The new plot is in shape of a square with area ‘4a%’ m2. Find the total cost
of fencing land owned by Ajay at rate of Rs. 453/m? /

3oTT & URT JH Y Yo PR & YA &1 TP haT 8| 98 TP 3 Y BT Th ST Wiledl g ot gH
Yoy & frar) § A fordft uer fFIR & T1y BT |13 ®var 81 7€ Yfiy 1 chsl iR 3 forget

&TEd ‘4a2’ W2 1 31T & waTiied arell YA A 453 IU/Hier & X | 918 TN It o aNd JId
ol

1. Rs. 7248a / 72482 ST
2. Rs. 9060a / 9060a SUY
3. Rs. 8607a / 8607a SUY

4. Rs. 7482 / 7482 34T

Correct Answer :-
« Rs.7248a /72482 30

26) are logical consequences of the accepted axioms. /

_ ipd Rigidl & @ifde afioma ¢
1. Conjectures / 3ITHIH

2. Theorems / THT

3. Postulates / 3RO

4. Corollaries /Wﬁ’q

Correct Answer :-

e Theorems / Ty

27) The price of 12 plates and 8 glasses is Rs. 528. If price of one glass is Rs. 18, then what is the
price of 6 plates? /

12 W 3R 8 Fraril &1 gwu 528 $Ud 81 9fe T ey &1 4o 18 T B, 1 6 Wl &1 Yeu foban
2

1. Rs. 292 /292 30
2. Rs. 192/192 309

3. Rs. 200 /200 94



4. Rs. 384 /384 30

Correct Answer :-

e Rs.192/1923W

28) The area of a circle that can be inscribed in a square of side 8 cm is /

s yraA TEd i F simfasA e quBTAwa gl

) 24w sqem [24m T AT

5 16msqem /16w @It JAT

3 36 wsqem /36m dI AT

4 6msqem /6w I AT

Correct Answer :-

16msqem /16w T3 AT

29) The word ‘Jiva'- half-chord from Aryabhatiyam translated into Arabic also means ./
STIUEH | Mg ‘WIaT — F1P P18 Bl 3R H srJared prA wRgadT 3d _ i ghmi
1. Tan / TOST ()

2. Secant / ¥b=T

3. Cos / Idl (B14)

4. Sinus / ST (QTZ)

Correct Answer :-
e Sinus / SUT (HIgTH)

30) The ratio between any two adjacent Fibonacci numbers (after 3) is about 1:1.6. This ratio is
called as )

it oft S oo fraAe! W@msi (3 & 918) & o &1 ST, TIHT 1: 1.6 81 39
3T B FET A1 3

1. Golden ratio / ‘i|¢8:| QIQIEH




2. Fibonacci sequence / [ETIGEHl S{IhH
3. Golden triangle / TMee ﬁ'{-ﬁf
4. Liber Abaci / foTeR Srat

Correct Answer :-

e Golden ratio / ‘ilc’S:l %IQIZH

31) The distance between the points (8,~2) and (3,-6) is

fag (8, -2) TUT (3, -6) & S B gt 2l

/40 units / m’ﬁﬁé
V41 units / \.,."'Hm
/31 units / \."ﬁﬁlﬁ

4 V46 units / m’ﬁﬁﬂ%
Correct Answer :-

41 units / ﬁ,’ﬁm

32) The graphic representation of the equations 3x + 2y = 5 & 9x + 6y = 6 gives a pair of: /

THIHI 3x + 2y = 5 TG 9x + 6y = 6 & AW A=y g 34 &'
1. Intersecting lines / Ufcreedl @MY

2. Perpendicular lines / §9ad X@TQ

3. Coincident lines / Tt X@TE

4. Parallel lines / FHMICR AT

Correct Answer :-

o Parallel lines / WWI’Q

33) The ordinate of all points on y-axis is:/

y-3& W | fogait & #ife o 3



1. Any number / Pl G
2.0
3.2

4. 1

Correct Answer :-

« Any number / CAERSEE|

34) Perimeter of rectangle with length 76 meter and breadth 48 meter: /
76 Wex @dl 3R 48 Hiex N} v 3maa F1 uRkum 3:
1. 240 1:“3?

2. 124 HIcR
3. 248 Hley
4. 126 HIcR

Correct Answer :-

. 248 TR

35) The number of times a particular item occurs in a given data is called its .
feT T siwsT # te fadv ug & yrw B9 Al w'n 3 guet HET AT 3|
1. cumulative frequency / Tt SRERGT

2. variation / f¥=rar

3. frequency / SRERAT

4. class size / I SfaRTA

Correct Answer :-
o frequency / SRERAI

36) The following sizes of shoes were sold in a day. Calculate the mode.
58,9,5,6,4,9,3,9,3,6,1,9,7,1,2,9 and 5
Frafafad smeR & 9d T A o 92 U | 9ga® B TUHET B

58,9,56,4,9,3,9,3,6,1,9,7,1,2,9Td 5



1.3
2.6
3.5

4.9

Correct Answer :-

37) A circle has two parallel chords of lengths 6 cm and 8 cm .If the chords are 1cm apart and the centre is on the
same side of the chords, and then find the length of diameter of the circle. /

T g | 6 A o 8 it s ) Sl guEHIGR a1 €1 afe shar 1 St R SR PN F Rw 8, at
I & T I GE1S 1 DL |

1. 12 cm/ 12 T
2.10 cm/ 10 G
3.5cm/5 Gl
4. 6 cm/ 6 |

Correct Answer :-

e 10 cm/ 10 I#

38) Choose the number not divisible by 3. /
3 & fywifora =18t 819 arelt W &1 a9 A |

1. 67890

2. 453627

3. 99999

4. 75286

Correct Answer :-

39) Find the additive inverse of integer 97./
quife 97 T TS UfdeH 19 B |

1.79



Correct Answer :-

e -97

40) Find the cost of fencing an equilateral triangle of side 64 m at the rate of Rs. 9 per metre. /
64 Hiex Yurrafi ardd U TuaTg Y ¥ 9 $Ud B X A 918 T &1 aRTd J1d D |

1. Rs. 1728 /1728 300

2. Rs. 2880 /2880 30U

3. Rs. 1862 /1862 30

4. Rs. 1674/ 1674 300

Correct Answer :-

o Rs. 172871728 3048

41) Behavioral objectives are also known as ./

NS Il DI & U WY ST e 3|
1. Developmental objectives / EEQRIGACE \5%5&{
2. Specific objectives / fafRry 3%321

3. Mastery objectives / G&ATUl 35=Y
4. Performance objectives / U?Qﬁ BEQZI

Correct Answer :-

« Performance objectives / LRG| 3

42) Reliability of a test means i

TP Ten &) faya-iaar o1 3 @
1. Accuracy of test scores / qﬁ&ﬂ 3] Pl Clhglﬁal
2. Development of test scores / TRY&T 3ipl &1 fawrg



3. Consistency of test scores / TRA&T 3ih] Bl G
4. Rating of test scores / TRI&T i Bt T

Correct Answer :-

» Consistency of test scores / erifall 3| Bt T

43) Choose the expression which shows the distributive property of whole number. /
quf H@&IT & fqaRonere T[or g1 aTelt i T a9 B |

1. 441x(352x568)= (441x352)x568

2. 241(367+543)= 241x367+543%241

3. 831+511=511+831

4. 198+158+217=158+217+198

Correct Answer :-
o 241(367+543)=241%x367+543x241

44) is the creator of logarithm. /

__ agiure & fAafar 21
1. Cantor/%
2. John Napier / i AR

3. Newton / g
4, Sylvester / o

Correct Answer :-
« John Napier / ST AR

45) ‘Folk algorithms’ of mentally performing number operations, also for measurement, estimation,
understanding of shapes and aesthetics prevailed in the ./

AR U A fraita sie dfsar &1 wie veniew, st fo A=, srgam, smefaa ik SRgef
g e fowefie,  dAvwafeas

1. Formal Education/GﬁtI?lTW fRrem
2. Universities / ﬁ’dﬁw

3. Villages / T



4. Schools /ﬁw

Correct Answer :-

» Villages /Tl'i—d

46) ‘Bija Ganita’ and ‘Siddhanta Siromani’ are the two important works of ./
et 1T 3R Ry RRfr & 3 weayuli ST €1

1. Bhaskara-2 / HIRh-2

2. Narayana panditha / TRTIU] ufed

3. Varahamihira / ERTE'&I'%?

4. Mahavira / HgTdR

Correct Answer :-

o Bhaskara-2 / HRhR-2

47) The classification of Audio-Visual aids was done by ./
YT (SfSal-fagere) Hera®! wTavffeeor_ gR1 favar mar Tl
1. Krathwohl / Had

2. Edgar Dale / USTIR od

3. Bloom / scJH

4. Anderson / T8

Correct Answer :-

o Edgar Dale / USTRR 3d

48) The main logical tool used in establishing the truth of an unambiguous statement is ./

WY HY D TaETg DI RITUT B3 8 Waa g aifipd ares 3|
1. Deductive reasoning / fARTHATH® ddb

2. Axiomatic reasoning / WqURIG ddb

3. Logical reasoning / T dd

4. Inductive reasoning / ANTHATHD GE2

Correct Answer :-



o Deductive reasoning/lr'\‘I‘IJ-HId-ICb dOB

49) If the co-ordinate of a point is (2, -3), then which quadrant it belongs to? /
gfe v fdg &1 A= (2, -3) 8, o) e fv aqufr @ wafta @2

1. I quadrant /I ilﬂ?—[fQT

2. IV quadrant / IV Elﬂ?‘lfQT

3. Il quadrant / IT %@ncm

4. III quadrant / III Iquf=r

Correct Answer :-
e IV quadrant/IV ﬂﬂﬂf-‘ﬂ

50) Number of tickets sold for 5 football matches are 20378, 19872, 20417, 32473 and 23473. Which
number is closest to 20000? /

5 Ppeara el & T 3 Y fewel #t TBT- 20378, 19872, 20417, 32473 3N 23473 § | HIF-IH [WAT 20000
¥ Apeaua?

1. 20417
2. 19872
3. 32473

4. 20378

Correct Answer :-

51) A car takes 2 hours to reach a destination by travelling at 60 km/hour. How long will it take while
travelling at 90 km/hour. /

TP BR DI 60 fHii/der &1 1fa I A= Hd §T Tdsd I a5 Uga- | 2 4 @1 § 1 90 fiider st nfa @
AT HYd §U S foha=T1 a0y R

1. 1 hour 20 minutes / 1 T 20 fiFe
2. 2 hours 40 minutes / 2 ¥eT 40 fie
3.2 hours / 2 ¥¢

4. Thour 30 minutes / 1 9T 30 ffFe

Correct Answer :-



e 1 hour 20 minutes / 1 T 20 fie

52) The circumference of a playground is 44 cm. A circular track of width 4 cm lay outside around it. The

area of the circular track is:/@@ﬁ%ﬁmaﬂqﬁﬁ[Ma’lﬂ%I sﬂﬁ?aﬁeﬁvwﬁ4ﬁtﬁaﬁﬁ§r€
911 U g1 Uy 8 | i Uy HT &% d &

53) If the difference between the humbers obtained on dividing a positive number x by 5 and
by 3is 1. Then: /

Ife T YFTHD BT x &1 5 3R 3 A AU F31 R urd w=msit & &9 &1 3w 1 §, o

X x
3= 173

1.
x
___:1
3 5

2.
Xx x
___:1
5 3

3.
x X
_:__1
3 5

4,

54) CANCELLED



0,1,1,2,5,8, 13, 21, 34, 55... and so on is a sequence named after the mathematician

/

0,1,1,2,5,8,13, 21, 34, 55... 3R 3! a8 3T, TH 3JHH g St T &
19 R 2

1. Buclid / gfdas
2. Thales / I

3. Fibonacci / BTSEMI
4. Pythagoras / mgzmﬂw

Correct Answer :-

« Fibonacci / BTSSRI

55) CANCELLED

If J3x 4+ 3x+....100 times =150, then x= /

‘qﬁ 3x + 3x+....100 T =150 %’ Tt x=

1
2

Correct Answer :-

56) Siya attended a mathematical ability test where (+3) marks are given for every correct answer,
(—2) marks are given for every incorrect answer and (-1) mark for every unattended question. Siya
scored 80 marks though she got 34 correct answers and left 10 questions. What was the total
number of questions for the test? /

Rrar 7 ve vt ervrar wheror & UrT forar Siet va® T8l 3R & T (+3) 3w foU oI €, Ud® Tad SR
¥ T (-2) 9w fau oI & SR Udl® uy Srg=ifva Uy & 1w (-1) 81 Ryam 7 80 3@ Wi fry, graife 394 34
TE IR AT 3R 10 vy fa=1 5@ fbru Bis few| wdhen & weil 9 oo = fea-h Az

1. 48 questions / 48 U¥Y



2. 50 questions / 50 UY
3. 75 questions / 75 U4

4. 60 questions / 60 U

Correct Answer :-
e 50 questions / 50 U¥

57) Continuous evaluation is meant to emphasize on ./

FAATEPT_ WER A & g giar g

1. retesting and feedback of evidence to teachers and students only / Fad el 3R 3E & ﬁm qi&d
&1 JA-ORIE0T 3R ufafsar

2. diagnosis of learning gaps, use of corrective measures only / Had HTH SR Bl e, JURTHD
JUTT T IUGNT
3. all of the above /mﬂlﬁ

4, regulation of assessment in total teaching-learning purpose only / Had FI'C‘[Uf fRreror-aifenm | HFCIW
CARCITREE]

Correct Answer :-

« all of the above /m THt

58) An Autocratic style of teaching is also known as ./

Rrerr @ v FAREw1 (Siicihfes) Akt ot & =q ¥ ff ST wrar 81
1. Informal style / AR Qe

2. Integrative style / QW Sl
3. Student-centered style / W—éﬂ?a el

4. Teacher-centered style / e/ -Fpfed el

Correct Answer :-

o Teacher-centered style / @W-%I?a el

59) Negative Reinforcement precedes the response and succeeds the response. /

THRIAP YAaa Ufdfshbar & ugd giar g 3 wfafssar & ugyTa g gl
1. punisher / 48 GIdT (S8 & dTel)



2. prover/ﬁ?&'ww

3. prediction / W?Ff
4. investigator / 3D (aﬁao—@ram

Correct Answer :-
« punisher / 8 AT (€S oA dren)

60) p:5+4 = 9(T)

q:5x(-12)<-100(f)

The truthfulness or the falsity of statements we use in daily life is called its

/ p:5+4 = 9(T)
q:5x(-12)<-100(f)

¢ Sfig ¥ gAR §RT SUGRT fHT oM 98 FUT P AN AT FAAT DI ____ Hgl Aral 8
1. truth value / J HIF

2. conjunction / TGS

3. connectiveness / GAISThdl (FgGea-4)

4. falsity / Il

Correct Answer :-

e truth value / I HIH



